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General Instructions :
Read the following instructions carefully and follow them :

56/2/1

®)
(1)
(iii)
()
(v)
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This question paper contains 33 questions. All questions are
compulsory.

This question paper is divided into FIVE sections — Section A, B, C, D
and E.

Section A - questions number 1 to 16 are multiple choice type
questions. Each question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type
questions. Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type
questions. Each question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions.
Each question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions.
Each question carries 5§ marks.

(viit) There is no overall choice given in the question paper. However, an

(i)
(x)

internal choice has been prouvided in few questions in all the sections
except Section —A.

Kindly note that there is a separate question paper for Visually
Impaired candidates.

Use of calculator i1s NOT allowed.

You may use the following values of physical constants wherever necessary :
c=3x10%m/s

h=6.63x 10734 Js

e=1.6x10"1C

Ho=4m x 1077 Tm A

gy = 8.854 x 10712 C2 N1 m~2

1
e =9x 109N m2C2

Mass of electron (m,) = 9.1 x 103! kg.

Mass of neutron = 1.675 x 10727 kg.

Mass of proton = 1.673 x 10~27 kg.

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann’s constant = 1.38 x 10723 JK~!
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1.

1 i MnO 4 1 MnO,, # 319=Rd 3 % T8 37169k 31T 8

A 1F (B) 3F
©) 5F D) 6F
frefafgdd s AT T B ?

(A) I hife rfsran o srfireres 1y Higar & T BT B |
(B) = whife Fafiifshan ot 31— 311y, a1 e % SZcohuTaTe Bl © |
(C) Toreht srfirforan <h1 srTfoarenar S &1 wehell 2 |
(D) ww Sife FATHAT S T8 ¢, = 0.693/k

I} 1 T S fereht smerfies arfwfsran o qrem rfvrfoRen a2, Ueh W Bt B

(A)  3rfferam < \fspaor it 6 (B) afrfspa sht weigframdt sht
(C) 3fSrfsran &t 3rfoerepar <t (D) 3fferan i hife i
[Ar]3d 10451 seierait~en fo=ame aret acal 2

@A) Cu B) Zn

(C) Cr (D) Mn

"l A [Co(NH,)(NO,)]** a1 [Co(NH,),(ONO)] %" *geTd 8

(A) I qEEIE! (B) syt TuTaRE
(C) IUHEHIS TuTEIE! (D) S EaTeE
yfegeehia Tfisfist 3

(A) [Ni(CN),* (B) [NiCl]*-

(C) [Fe(CN)gl*- (D) [CoFg]*

[aeam] @& : Co = 27, Fe = 26, Ni = 28]
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SECTION - A 16 x1=16
Question No. 1 to 16 are Multiple Choice type questions carrying 1 mark each.

1.  The charge required for the reduction of 1 mol of MnO 4 to MnO, is
A 1F B) 3F
(C) 5F D) 6F

2. Which among the following is a false statement ?
(A) Rate of zero order reaction is independent of initial concentration of
reactant.
(B) Half-life of a zero order reaction is inversely proportional to the rate
constant.
(C) Molecularity of a reaction may be zero.
(D) For a first order reaction, t;,, = 0.693/k.

3. The number of molecules that react with each other in an elementary
reaction is a measure of the :
(A) activation energy of the reaction (B) stoichiometry of the reaction
(C) molecularity of the reaction (D) order of the reaction

4.  The element having [Ar]3d!%4s! electronic configuration is
@A) Cu B) Zn
(C) Cr (D) Mn

5. The complex ions [Co(NH,), (NOZ)]2+ and [CO(NH3)5(ONO)]2+ are called

(A) Ionization isomers (B) Linkage isomers
(C) Co-ordination isomers (D) Geometrical isomers

6. The diamagnetic species is :
(A) [Ni(CN) 4]2‘ (B) [NiCl 4]2‘
(C) [Fe(CN)g]*~ (D) [CoFg]*~
[At. No. Co =27, Fe = 26, N1 = 28]

56/2/1 ~p5 ~ P.T.O.
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7. Trafaied s fu s @ ad IUPAC TW ® ?
CH;

Cl
(A) AR (B) <

(C) 1-FAR—4-HRIeAes (D) 1-ARE—4-—FARSES

8. fecfiaeh eapieiel i wiftih WETEEIEE (CrO,) % | ffefishtor stffsran % amg =
T ?
A) tfeses (B) RH
(C) hIEifagicteh 3T D) T

9. T k1 Afcifirferes 3trer 1 wuiaor fo 5 9 forgeh gru foran ST geRar @ 7
(A) TEH-AmT Frffsha (B) YhISeA-shHed ATfsha
(C) <picsl Frf¥fsha (D) IHA ATk

10. For=forfaa o & i =1/8 9I8H % frehdiertor 1 Semr 3/ ?
(A) 378 S AHe] T Thed (B) &l 1 SHAT
(C) T T Ueeh] ST (D) (A) 3R (B) gFI

11. foeriese Ma i fra sg gRI IS BId & 7

(A) TATEHEEE 9 (B) U=TEE TY

(C) ETsgISH ey (D) BEHISEURT Sy
12. Thal T fonerehl et o RO BT 8 ?

(A) feerfim Bl (B) feaerfim B2

(C) UT=hileieh 3TA (D) LI 3T

56/2/1 ~6 ~



(B) Toluene
(D) 1-Methyl-4—Chlorobenzene

reaction of secondary alcohol with

(B) Ketone
(D) Ester

The conversion of phenol to salicylic acid can be accomplished by

(B) Friedel-Crafts reaction
(D) Coupling reaction

Which of the following is/are examples of denaturation of protein ?

7.  Which is the correct [IUPAC name for
CHj
Cl

(A) Methylchlorobenzene
(C) 1-Chloro—4—Methylbenzene

8. What will be formed after oxidation
chromic anhydride (CrO,) ?
(A) Aldehyde
(C) Carboxylic acid

9.
(A) Reimer-Tiemann reaction
(C) Kolbe reaction

10.
(A) Coagulation of egg white
(C) Clotting of blood

11. Nucleotides are joined together by
(A) Glycosidic linkage
(C) Hydrogen bonding

12. Scurvy is caused due to deficiency of
(A) Vitamin Bl
(C) Ascorbic acid

56/2/1 ~ 17

(B) Curdling of milk

(D) Both (A) and (B)

(B) Peptide linkage

(D) Phosphodiester linkage
(B) Vitamin B2

(D) Glutamic acid

N\\NNNNANANANNANNNNNNNANANNANN
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e.

TR H&AT 13 ¥ 16 o T, < e f6u U & — [ Tk 1 AR (A) 7T g8E i
R0 (R) g1 3ifehd foham T B | 39 T941 o Tl ST i few M =iEi (A), (B), (C) 3R
(D) ¥ & IR G

(A) AR (A) 3R SR (R) gHI F&1 & 3T SR (R), AMHUT (A) I &t =men

HATR |

(B) 3tfieped (A) 3T HWOT (R) M W&l &, Tg R (R), e (A) H @
ST & L1 8 |

(C) fireped (A) W&t B, Tg RV (R) Tl 2 |

(D) 3T (A) ToId &, Td R0 (R) T&1 2 |

13. IR (A) :

ST (R) :

14. IR (A) :
ST (R) :

15. 3R (A) :

%I (R) :

16. 3R (A) :
%I (R) :

56/2/1

g ife rffshan § afe siiremes i wigar SrHt |1 St &, o gHeht

FrigehTer Wi ST B SR |
gow hife sfifsra § sreigenrer srfienres Y TRiES digar o fef 7
HIE |

Cu T @ISt 37 < |1 HATHsH ek H,, Tord T8l L Hhall |
Cu 1 SAFIS Tave GHTeHe 2 |

Ui wfes UiiA sl Afsue SfemEe deewer g T8 SHRT S

HhdT g |

U Boige AfcaEe 9 9d RUREE o G ARl fdeeme
AfTeRaT T& L Fehd |

fyerfim D gaR i & wiad T S wehar 2 |
foerfim D s@n & germefie foerfim 2 o 3 & wew & e & et 18
freperar 2 |




For question number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : In a first order reaction, if the concentration of the
reactant is doubled, its half-life is also doubled.

Reason (R) : The half-life of a reaction does not depend upon the initial

concentration of the reactant in a first order reaction.

14. Assertion (A) : Cu cannot liberate H, on reaction with dilute mineral
acids.

Reason (R) : Cu has positive electrode potential.

15. Assertion (A) : Aromatic primary amines cannot be prepared by Gabriel
Phthalimide synthesis.

Reason (R) : Aryl halides do not undergo nucleophilic substitution

reaction with the anion formed by phthalimide.

16. Assertion (A) : Vitamin D cannot be stored in our body.

Reason (R) : Vitamin D is fat soluble vitamin and is not excreted from

the body in urine.

56/2/1 ~9 ~ P.T.O.



17.

18.

19.

20.

21.

(A) T Hife i AATFT A > P % fotw a1 f2mis 0.0030 mol L1s1 & | Al

IRk Tigar 0.10 M & 0.075 M dh T8 S | feheHT 99 o ? 2
AYAT
(B) wifew Hag W NH, &1 96 3 i BRI § | Afg k = 2.5 x 1074
mol L1 S_léﬁNzﬁTH2a3mﬁﬁW%? 2
frafeafaa et w1 afenfya Hifsw 2x1

(a) O YUH hife MR
(b) AT (t,,,) T FUIRIA

FraferRaa Jetor <t =me Sifsw 2x1
(a) HshHYT Il FHTIC: T Aifireh s 8 |

(b) T HshHuT dea TR AT AT 2 |

TUPAC HTHES & ER fefeiigd Iuggsier Afiept & 919 S1dTse : 2x1
(a) [Co(NHy),(H,0)CIICL,
(b) [CrCl,(en),] CI

(a) BSH MMkl < MR el § € i |1 AT diear § Sy 1 SAlsRan sam
IRH 7 1

N FW\/\/
7 | N
(b) FEATIREa ARl b1 S 2 WieRATad o i 36kt ATRATMA o sed H 1
TN HIFT 1

2—SN— 2 ATIARIEA, 1-SHIU=H, 25T

56/2/1 ~ 10 ~



17.

18.

19.

20.

21.

SECTION - B

(A) The rate constant for a zero order reaction A — P is 0.0030 mol Li1s~1.

How long will it take for the initial concentration of A to fall from
0.10 M to 0.075 M ? 2

OR

(B) The decomposition of NHg on platinum surface is zero order reaction.
What are the rates of production of N, and H, ifk = 2.5 x 10¢mol L1 g1? 2

Define the following terms : 2x1
(a) Pseudo first order reaction

(b) Half-life period of reaction (t,,,)

Examine the following observations : 2x1
(a) Transition elements generally form coloured compounds.

(b) Zinc is not regarded as a transition element.

Name the following coordination compounds according to IUPAC norms : 2x 1

(@) [Co(NH,),(H,0)CIICL,
() [CrCl, (en),] CI

(a) In the following pair of halogen compounds, which compound
undergoes Sy 1 reaction faster and why ? 1

(b) Arrange the following compounds in increasing order of their
reactivity towards Sy 2 displacement : 1

2—Bromo—2—-methylbutane, 1-Bromopentane, 2—Bromopentane.

NN\

56/2/1 ~ 11 ~ P.T.O.



22. 25 °C 9 U 1 T aTF 16 24 mm Hg 2 | 35 a9 T IR&1 6 5% Sefy foers
T TS ETe AT 1T, | (R T HIeR Fe9HH = 60 g mol ™) 3

23. 0.8 cm? &F%hA 3R 40 THt &e13 d1el 0.05 M NaOH faerH o & w1 foga ufalg
5 x 103 3TH & | 35eh! TfcriershdT, TTetshdT 3T HICK STeTehdT ohl TTUMT hifoTT | 3

24. T=fafaa vamfTe Fxfietor o quf w@ ggferd i : 3x1
(@) MnOj +C,05 +H*——

(b) KMnO,— 2,
513 K

© Cr,02 +H,S+H" —>

25. TSRl e g 1 3T i U, Fefafad o TRl 3R eshia SaaR
1 THTIT : 2x1%=3

() [Co(NHy)gl*
(b) [Ni(CO),]

[aeaT] & - Co = 27, Ni = 28]

26. (a) Tr=fcrRaa w1 afenfya Hifse 2+1=3
(i) s &9 (TR
(i) afies faso
(b) A TRt e srfirfsran o wfe wicdieft i @ 2

N\\NNNNANANANNANNNNNNNANANNANN
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22.

23.

24.

25.

26.

SECTION - C
At 25 °C the saturated vapour pressure of water is 24 mm Hg. Find the

saturated vapour pressure of a 5% aqueous solution of urea at the same

temperature. (Molar mass of urea = 60 g mol™}) 3

The electrical resistance of a column of 0.05 M NaOH solution of area 0.8 cm?
and length 40 cm is 5 x 103 ohm. Calculate its resistivity, conductivity and

molar conductivity. 3

Complete and balance the following chemical equations : 3x1
(@) MnOj +C,0F +H*——

Heat

b) KMnO
(b) 4 5K

© Cr,0¥ +H,S+H"—>

Using valence bond theory, explain the hybridization and magnetic

character of the following : 2x1% =3
(a) [Co(NHg)gl?*
(b) [N1(CO),]

[At. no. : Co = 27, N1 = 28]

(a) Define the following : 2+1=3
(1) Enantiomers
(11) Racemic mixture

(b) Why 1s chlorobenzene resistant to nucleophilic substitution reaction ?

56/2/1 ~ 13 ~ P.T.O.
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27.

28.

29.

(A) Trataiga sl S smen Hifse 3t aftrfoa s fakau 3x1
(a) dIcH-ThT FAT=RH

(b) TerE Afufern
(c) piwmr Irffsham
FAgan
B) T aafufsranati o s1shn 8 A, B 3R C <t witeHd fafaw 2x1%=3

S0Cl, H,, Pd-BaSO, H,N-NH,
(a) CH,COOH > A > B > C

L(DIBAL-H) 7 NaOH A

(b) CH,CN B > C
2. H,0
fr=faftaa ueh st afeafya Hifvw 3x1=3
(a) TATSHEEE T
(b) 3TIgA IRT
(c) 3IMfermasss
Qg -q

3¢ foeme @ faerm § sruan 9 foomm @ g foaomm 9 srefurm fereeft & wem 4
foeirres o1 wa: YEfid JaTg TUET ShEdrdl @ | TET TiEeHT i Th & TR 6 &
TS I ikt Yef¥ia T3 <11 Tehar 8 | 372 § @i o 9 3R 378 & vgred o 9 7R &
foreeht StduT it 8 | 372 I O TSSIHANG, 3T § STeThl STedl hal @iet hl
BT ST Hehdl 8 | 3R @I I &M o §1G Uh 1S I THA Sl H 3R ga 1 Hq<
A o el H W@ A1 & | S T 916, T el § [T ST §A 1T &, SAfch THh b
o T W@ 7S e ST 8 | Tt i b b foTT SR TR SRl €1, 0T e
(Toh I ToTeH) Shaeldl & | il JUEv a8 gial & S oRmal o1 §el grel
T €16 § 3Tk &1 1 ¢ |

56/2/1 ~ 14 ~



27. (A) Explain the following reactions and write chemical equation involved :
3x1=3
(a) Wolff-Kishner reduction
(b) Etard reaction

(¢) Cannizzaro reaction

OR
(B) Write the structures of A, B and C in the following sequence of
reactions : 2x1%=3
SOCl, H,, Pd-BaSO, H,N-NH,
(a) CH3;COOH > A > B > C
1.(DIBAL-H) . Dil. NaOH A
(b) CHZ;CN > A > B > C
2. Hy,0O

28. Define the following terms : 3x1=3

(a) Glycosidic linkage
(b) Invert sugar

(¢) Oligosaccharides

SECTION -D

29. The spontaneous flow of the solvent through a semipermeable membrane
from a pure solvent to a solution or from a dilute solution to a
concentrated solution is called osmosis. The phenomenon of osmosis can
be demonstrated by taking two eggs of the same size. In an egg, the
membrane below the shell and around the egg material is semipermeable.
The outer hard shell can be removed by putting the egg in dilute
hydrochloric acid. After removing the hard shell, one egg is placed in
distilled water and the other in a saturated salt solution. After some time,
the egg placed in distilled water swells-up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is
termed as osmotic pressure (a colligative property). Reverse osmosis takes
place when the applied external pressure becomes larger than the osmotic

pressure.
A 2222222%22%22% 2%

56/2/1 ~ 15 ~ P.T.O.
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(a) WIqoIT JUEROT i TRWTNG HifSTT | Ueh 31earmy fereet (SPM) 1 919 ATt

Torent 3T gl qureTor <t gk o foharm ST EehdT B | 2
() (1) T AT FER BIRERI3T (RBC) i 0.5% NaCl fae=e § T@1 <I1ar 2 a1 379
AT B ohl U H & ? 1
CLE
(b) (i) 1M KCIeEr 1 M Ife foemm § @ fordent s g 31feres g1 | 31
ST e e | 1
(c) TRV SIS Ush STUERE TUTe RIi g 7 1

30. T § AT3EISE WA T THER Soia W a1 2 STHeh 01 o g9 &R i 7@
SRR U @ | K, 1 7 T 31fees g0m A pK,, %1 7 a1 3 81T, &Re 341 &1
TE BT | Ueshlglel, $o, Tk 371fe <t g § il 31tk amehi 8 | oferihfess il
T T 107 Ufcshet il <hi gig o wrer-Tme e 9fen, | Wiferd I8 Frafia su &
T 2t B Riifen e Uerthiees Wi sryenfyr w9 & Sefia foerr # qeias Wb
o1 Afereh amehT g 2 | YA Wi s si Wt e o e A gl
& B & | Joidgi Had i el 998 9 — CH,, ~OCH,, —NH,, 371, &z
1 SEId & SISk goiag Wie (3T 1ol HTaeertyd 9 S8 — NO,, —CN, gise
e, Wi S ARERIIAT bl S0 hid & | $7 STITaAT o1 JuTd m- feufolt st gern §
p~ R 3R BT R |
(a) Trmforfad o6t 376 et 1T % Sgd g bW 3 e IS | Hrr €ifSw | 2

NH, NH,  NO,
NO

2 CHj
(b) HIEUHA I gordT H U 1 pK, 7 31fae i gt & ¢ 1

N\\NNNNANANANNANNNNNNNANANNANN

56/2/1 ~ 16 ~



(a) Define reverse osmosis. Name one SPM which can be used in the

process of reverse osmosis. 2

(b) (1) What do you expect to happen when red blood corpuscles

(RBC’s) are placed in 0.5% NaCl solution ? 1
OR
(b) (1) Which one of the following will have higher osmotic pressure in
1 M KCl or 1 M urea solution. Justify your answer. 1
(¢) Why osmotic pressure is a colligative property ? 1

30. Amines have a lone pair of electrons on nitrogen atom due to which they

behave as Lewis base. Greater the value of K or smaller the value of pK,,

stronger is the base. Amines are more basic than alcohols, ethers, esters,
etc. The basic character of aliphatic amines should increase with the
increase of alkyl substitution. But it does not occur in a regular manner as
a secondary aliphatic amine is unexpectedly more basic than a tertiary
amine in aqueous solutions. Aromatic amines are weaker bases than

ammonia and aliphatic amines. Electron releasing groups such as —CH,,
—OCH;, -NH,, etc., increase the basicity while electron-withdrawing
substituents such as —-NO,, —CN, halogens etc., decrease the basicity of
amines. The effect of these substitute is more at p~ than at m™~ position.

(a) Arrange the following in the increasing order of their basic character.

Give reason : 2
NH, NH, NO,
NO, CH,4

(b) Why pK, of aniline is more than that of methylamine ? 1

N\\NNNNANANANNANNNNNNNANANNANN
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T

) () g foerm 4 fafefaa o1 39 g™ U < 9gd §¢ A 1 =afed
ST | SR ST | 1

(CH,),N, (CH,),NH, NH,, CH,NH,

gt
(€ (i) g WA o forem o fory Ufeshet BeiTgel 1 UHIMT- 3108 Th Jr=adt faife
FAEE 7 1
g -§
31. (A) (a) CH,—CH=CH - CHO % [UPAC T 9qrs¢ | 1
(b) TS 3N TUTH T fasie w3 & fofw v et qamafes qdieror i | 1
(c) 3 F=AfeRad w1 S8 ufafad st ? 3

(i) 2T i siilgeh e
(i) TIHTSA I FUH—2-3TA |
(iii) SOl s 2-BTgGIeRATSUATSe 37 |
AYAT
31. (B) fr=faiRad g getvwr & @ gu wRie: qerd, arfirerte 37erat Scural i gont ot

HifSu 5x1=5
N +
() +HO —NH, 1,

®O —
® * me 2()=°

56/2/1 ~ 18 ~



(¢) (1) Arrange the following in the increasing order of their basic

character in an aqueous solution : 1

(CH,),N, (CH,),NH, NH,, CH,NH,

OR

(¢) (1) Why ammonolysis of alkyl halides is not a good method to

prepare pure amines ? 1
SECTION - E

31. (A) (a) Give IUPAC name of CH; — CH=CH - CHO. 1

(b) Give a simple chemical test to distinguish between propanal
and propanone. 1
(¢) How will you convert the following : 3

(1) Toluene to benzoic acid

(11) Ethanol to propan—2—ol

(111) Propanal to 2-hydroxy propanoic acid
OR

31. (B) Complete each synthesis by giving missing starting material,

reagent or products : 5x1=5

S +
(a) K\f +HO — NH, —°

| S|

®O —
® * m 2()=°
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(d)

(e)

32. (A) (a)

(b)

32. (B) (a)

56/2/1

OH  SOCI,
0 A
OH
(\( CHO  Nacnmc .
\/\ COOH ,
0

C
o— ™

25 °C W FfetRaa i o T #ieh frest a1l (A, G°) 1 diteher
i ; 3+2
Au(s) + CaZ"(1M) —» Au3"(1M) + Ca(s)

EAu3+/Au =+15YV, ECa2+/Ca =-287V

wrIfeR shifste 6 25 °C W rffspan Toa: vafda gt = & |

[1 F=96500 C mol]

Afew 9id H Ag,S B 8 | F1 W WATAT %I Wi =id % A
T U9 W Tt g A1 "ehal 7, EH NaCl St ffsea fogga
e foeram s & 7 3red rfirfspen & fore wies soiereis favia
Ag,S(s) + 2e” —— 2Ag(s) + S* % L —0.71 V 8 3R

AB* + 8e=—— 2Al(s) F W -1.66 VE |

YT
Frfeaiaa = ufenfyg i 2+3
Q) o T
(i) seTA



© o

OH

CHO
@ (\( NaCN/HCI

\/\ COOH

0
I

C
SoRp

32. (A) (a) Calculate the standard Gibbs energy (A,G°) of the following

reaction at 25 °C : 3+2
Au(s) + CaZ"(1M) —» Au3"(1M) + Ca(s)
EAu3+/Au =+15YV, ECa2+/Ca =—287V

Predict whether the reaction will be spontaneous or not at 25
°C.
[1 F=96500 C mol]

(b) Tarnished silver contains Ag,S. Can this tarnish be removed by
placing tarnished silverware in an aluminium pan containing

an 1nert electrolytic solution such as NaCl ? The standard
electrode potential for half reaction :

Ag,S(s) + 2e” — 2Ag(s) + S2-is—0.71 V and for
AT+ 3~ —— 2Al(s) is—-1.66 V
OR
32. (B) (a) Define the following : 2+ 3
(1) Cell potential
(11) Fuel cell

56/2/1 ~ 91 ~ P.T.O.
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(b) Tr=faRad et emf st 25 °C TWIOHT L

2+ 2+
Zn(s)IZn(OllM) | Cd(0.01M) | Cd(s)
feng: E qg2t/0q =040V

EZn2+/Zn =-0.76 V
[log 10 = 1]

33. (A) anfves g3 C,H O aTeT s Heieh Afies ‘A’ CrO, % |1 AR Hteh
ifireh ‘B’ SHT1 7 | AMfieh ‘B’ STEEH 3R NaOH @ Sefte forere o arer m foh
S W3R C” o1 diell e <dl @ | 9 Affeh ‘A’ I 413 K TG H,S0,
% Ty T A B o Afieh D’ ST & S At HI % |y srfifsear sees Aifies
BT ? A A B 0, D 3R 6 geEe shifse qen aftifera tamfie
wHteRT T | 5
g
33. (B) (a) TmAfcifaa stfiferanati & fow wamafes gt forfaw 3+1+1=5
(i) =g HNO, % |19 hiHta i fufsram
(i) B,H, % @ WA 1 sfulskn 3geh wwe=md 38ep H,0,/0H- g1
SHATFE TR
(i) WTSAW t-geieTse o | CH,Cl sl Affsran
(b) SRA-1-3TA N SFPHA-2-37 & AH favg & & ol e vaEFs
dieor g1 |
() FrferRaa 1 37 3reefta 1Tl % Sgd 5U A H sxafedd hifvT :

56/2/1 ~ 929 ~



(b) Calculate emf of the following cell at 25 °C :
2+

2+
Zn(s)IZn(OllM) | Cd(0.01M) | Cd(s)
Given : E;d2+/Cd =-0.40V
EZn2+/Zn =-0.76 V
[log 10 = 1]

33. (A) An organic compound ‘A’, molecular formula C,H O oxidises with
CrO, to form a compound ‘B’. Compound ‘B’ on warming with iodine

and aqueous solution of NaOH gives a yellow precipitate of

compound ‘C’. When compound ‘A’ is heated with conc. H,SO, at 413

K gives a compound ‘D’, which on reaction with excess HI gives
compound ‘E’. Identify compounds ‘A’, ‘B’, ‘C’, ‘D’ and ‘E’ and write
chemical equations involved. 5
OR
33. (B) (a) Write chemical equations of the following reactions : 3+1+1=5
(1) Phenol is treated with conc. HNO,4

(i) Propene is treated with B,H, followed by oxidation by
H,0,/0OH".
(111) Sodium t-butoxide is treated with CH4Cl.

(b) Give a simple chemical test to distinguish between butan—1—ol
and butan—2—ol.
(¢) Arrange the following in increasing order of acid strength :

phenol, ethanol, water
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